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Calculus IT (MATH 0122) Final Exam, 15 December 2022

This is a closed book exam. Notes, calculators, cell-phones are not allowed — the only allowable items are
pens, pencils and erasers. A table of trigonometric identities is attached. To receive credit you must show
your work. Please leave answers as square roots, In(), exp(), fractions, or in terms of constants like e, 7, etc.
Please turn off all cell-phones and other electronic devices. When you are finished please write and sign
the Honor Code (I have neither given nor received unauthorized aid on this exam. I have not witnessed
another giving or receiving unauthorized aid.) in the space provided below. Good luck!

Please complete all of the questions.
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1. [5 points] Write 4.123123. .. as the ratio of two integers.
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. [10 points] In this problem you will show that 3 o (k kl_tll; converges.

First, let’s show that > po; l—“k%k—) converges by using the Integral Test. Show this here (and to do so,
you will need to use integration by parts):
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What test allows you to make the desired conclusion?
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3. [10 points] Show that the function
o0 1)n 2n

->C

n=0

is a solution of the differential equation

(@) + fx)=0.
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(a) Find the Taylor series for f(z) = In(z) centered at the value of @ = 2. [Assume that f(z) has a
power series expansion. Do not show that Ry (z) — 0.]
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5. [15 points] Populations of birds and insects are modeled by the equations

dv _ 4 2
dt 107 1,000
dy 2 8

at ~ 10Y  1,000,000""

(a) Which of the variables, = or y, represents the bird population and which represents the insect
population?
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(b) Find the equilibrium solutions and explain their significance. Mark these solutions on the plot

given lower down.
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(d) The direction field for the differential equation in Part (c) is shown. Use it to sketch a phase
portrait.
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6. [10 points]

(a) Use Euler’s method with step size 0.2 to estimate y(0.4), where y(z) is the solution of the
initial-value problem y' = 2xy?, y(0) = 1. (That is, find (z2,>).)

(b) Find the exact solution of the differential equation and compare the value at 0.4 with the
approximation in Part (a).

= | ) Gaver.
‘jl =Y. + ‘\F("-,no) = [+ O.2 (Z'O-l") =
So ()‘,‘31) = (9'2, ‘)

jzz. 9. + L\ 12(*;,-3,) =l¢+ 0.2 [Z'a.z-l")= l.os

Jo (hlvb): (O.‘{ ‘ I.DJ-)

(b) 4
) '1 zi‘v [ S S(fqrnL!‘ Jmﬂuﬁﬁ( ﬁ"“ﬁp“

> Y e = f.“l =fz,,(,
2 r R
9 J

-1 x* ¢+ C

9
We can solve R C Wiy Hee iai ok Coua(..)“m-' X, =20

l"o=,
r
° —-{- - o"'l' C = e:.-‘
{
Thes, ~L:ptey = Y=
3 x|
S. at X=0.4 A«-—c = - 1 = /°0~zr.




7. [15 points] Consider the following curve defined parametrically by

z =sin(t), ¥y = cos?(t), 0<t<2m

(a) On the graph paper provided, sketch z(t) on a t, z-plane and y(t) on a t, y-plane.

(b) On the graph paper provided, sketch the curve on the z, y-plane.
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(d) Find the equation of the line tangent to the curve at t = 7 and draw the tangent line on the

curve you sketched in Part (b).

At t=1 . l“°"‘”+ o Ha Cuvve

wd qEem(m) =
a‘(' e fa V""l' Silen «t

x= sin () =0
At t=m 1 slop
A pimb S 2= czam = e
t=m
TL;, He gt Lina her GGutron
Y- = ofx -o)

=) a-::l / " l’wri?..ouu Lima. Hiven (O,I)



e S 1t i o e '
'-"5:1?:“ i S qj-:_al szé V] (R S (D
| : o]
x AH T VT i
sk | 10N Il i |
N/ | 1l
AETT R
| | EEE i l
| il {8 o et E 'I
T ! [ A . ] T
gj"f st 2 g ?"hh- F Kea[<t [T=1 2liEH] l
6 Sl i
- : = 4; i = -{.; t | SN
i 1 el i B . ok
i T ! ;
il I 1 PR
a2, [ 0 1S g 0 i LB} |ENEES LS TIR,
: |
,b X , ‘j m Cuvvt S#vﬁ a'/'
0 o \ l (0,1) ™move) A (/,D)
T/ . 0 aut  Fer bach h (0,1)
T_" 0 I "hc:u) oven (Top /. Theo
!
3w, | -1 | © R (<ho) a~A backov
Z
Relf o /o,1)
2T 0 |




Trigonometric Identities

-
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1]
Addition and subtraction formulas

o sin(z +y) =sinzcosy +coszsiny

sin(z — y) = sinz cosy — cosrsiny N

cos(z +y) = cosxcosy —sinzsiny

cos(z — y) =coszcosy +sinzsiny

__ tanzttany
ta.n(w + y) ~— I—tanxtany *

tanz—tany
1+tanzxteny

tan(z — y) =
Double-angle formulas
e sin(2z) = 2sinzcosx
o cos(2z) = cos?z —sin?z =2cos’z —1=1— 2sin’z
o tan(2z) = 1—?‘_—%:—111%

Half-angle formulas

o sin2 Tz = 1—cos(2z)
2
o cosz = ————1+C°25 (22)
Others

e sin Acos B = 3[sin(A— B) + sin(A + B)]
o sin Asin B = 1[cos(A4 — B) — cos(A + B)]
e cos Acos B = 3[cos(A— B) + cos(A + B)]



